Chapter 21 Problem V (+1)




Name _____________________

31. Predict whether CaCO3 will precipitate when 0.5L of 0.001M Ca(NO​3)2 is mixed with 0.5L of 0.0008M Na2CO3 to form 1.0 L of solution.  The Ksp of CaCO3 is 4.5 x 10-9.

32. A student prepares a solution by combining 0.025 mol CaCl2 and 0.015 mol Pb(NO3)2 and adding water to make 1.0 L of solution.  Will a precipitate of PbCl2 form in this solution?

52. Write the solubility product expression for each salt.

a) NiS

b) BaCO3
53. What does the solubility product constant (Ksp) represent?

54. Use Table 21.4 on page 632 to rank these salts from most soluble to least soluble.

a) CuS

b) BaSO4
c) SrCO3
d) AgI

55. How does the addition of a common ion affect the solubility of another substance?

Extra Practices

1. Will a precipitate form when 0.00070 mol Na2CO3 is mixed with 0.0015 mol Ba(OH)2 in one liter of solution?  Assume that these two salts both dissolve completely.  Refer to Table 21.4 in your textbook.

2. Will a precipitate of CaCO3 form when 0.96 g of (NH4)2CO3 is mixed with 0.20 g of CaBr2 in 20.0 L of solution?

